Integration:

Integration is the reverse of differentiation

n+1

Constant of integration
.[ X' dx = X + ca s

e.q. Given that Not all questions will ask
f'(x) = 8X — 6x and thatf(2) = 9 find f(x) you to find the value of C.
fx) = J 8¢ — Bx dx However always make sure
you write + Cin your
4
- - c answer
4 2
=2 -3¢ +¢ ‘
Tofind c use f(2) =9 .

32 -12+c¢c=9 )

c= -1
So f(x) = 2x* - 3x* =11

The area under a graph can be found using integration \(

The area under the graph of y=f(x) betweengra\@ ngclg found by
evaluating the definite integral O"e

er tlﬁflﬂg&\yﬂxiﬁ gﬁve?a the lines x=0 and x=2

e.g. find the area und
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Remember: an area below the x axis has a NEGATIVE VALUE




